Trigonometry - 7.1 - The Law of Sines October 06, 2014

Leview

=P 5 523 5 D=2610 ey
S=rH

Z
== -3 ol SMef¥ 2
e, 2oto00 AT Y |5

r=34{t ')'6:.?6 > 5:4'](\
S=re

9-S . Air 1§t v :|20°

== -7 . _L.&-eo = | L=

T e
X

7.1 The Law of Sines
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Derivation of the Law of Sines
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The Law of Sines

sin A sin B sinC

a b C
or
a b C

sin A sin B sinC
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7.1 The Law of Sines, continued

ASS — Problematic Triangle
14.B=32°,c=14,b =9

Case1:C =~ 55.5° A =~ 92.5° ,a =~ 17

Case 2
C,= 18O - -C =

A= IBO-B-C,= 130 -3~ 5.
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Homework:

e 7.1#1-21 odd

e 7.1#29,30,33,34,35
e 7.2#9-19 odd

e 7.2 #25-290dd;

e 7.2#38,43,46,47,48
e 7.3#37,41,43

SN320

solving triangles with Law of Sines

word problems with Law of Sines

solving triangles with Law of Cosines

area

word problems with Law of Cosines

word problems with Law of Sines/Cosines
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